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Question Id : 92090624600 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Question Numbers : (1 to 5)

Question Label : Comprehension

Russia's prime minister signed a set of agreements with China on Wednesday during a trip to
Beijing, describing bilateral ties at an unprecedented high, despite criticism of their
relationship in the West as the war in Ukraine drags on.

Prime Minister Mikhail Mighustin, the highest-ranking Russian official to visit Beijing
since Moscow sent thousands of troops to Ukraine in February 2022, held talks with Chinese
President Xi Jinping and Premier Li Qiang.

With the war in Ukraine in its second vear and Russia increasingly feeling the weight of
Western sanctions, Moscow is leaning on Beijing for support, far more then China on Russia,
feeding on Chinese demand for oil and gas.

The pressure from the West has shown no sign of easing, with the Group of Seven's
weekend declarations singling both countries out on a series of issues including Ukraine. The
(7 agreed to tighten sanctions against Moscow and urged China to press Russia to withdraw
its forces from Ukraine.

Sub questions

Question Number : 1 Question Id : 92090624601 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement | :  With the war in Ukraine in its third yvear and Russia increasingly
feeling, the weight of western sanctions, Moscow ig leaning on Beijing

for support.

Statement 11 : The pressure from the West has shown no sign of easing, with the
Group of Seven’s weekend declarations singling both countries out on a

series of issues including Ukraine.

In the light of the above statements, choose the correct answer from the options given helow :

(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement [l are incorrect
(3) Statement I is true but Statement II is incorrect
() Statement [ is false but Statement 11 is correct

Options :



92090697201. 1
92090697202. 2
92090697203. 3
92090697204. 4

Question Number : 2 Question Id : 92090624602 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find out one word substitution for the following phrase from the options given below.

‘Mever done or known before’

(1) Unprecedented (2) Unpronounceable
(3) Unprotected (4) Unquiet
Options :

92090697205. 1
92090697206. 2
92090697207. 3
92090697208. 4

Question Number : 3 Question Id : 92090624603 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pact means:

(1) Oral agreement (2) Coherent understanding

{3) Written explanation (4) Formal agreement between parties
Options :

92090697209. 1
92090697210. 2
92090697211. 3
92090697212. 4

Question Number : 4 Question Id : 92090624604 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Moscow is leaning on Beijing means:

(1)  supporting Beijing (2) depending on Beijing
(3)  giving support to Beijing (4) entered into a pact with Beijing
Options :

92090697213. 1
92090697214. 2
92090697215. 3
92090697216. 4

Question Number : 5 Question Id : 92090624605 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pressure from West on Moscow has shown no sign of easing. The underlined phrase

means:

(1) Pressure is increasing.
(2) Pressure is decreasing.
(3) Pressure is continuing at the usual rate.

(4)  Pressure has become insignificant.

Options :

92090697217. 1
92090697218. 2
92090697219. 3
92090697220. 4

Question Id : 92090624600 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Russia's prime minister signed a set of agreements with China on Wednesday during a trip to
Beijing, describing bilateral ties at an unprecedented high, despite criticiam of their
relationship in the West as the war in Ukraine drags on.

Prime Minister Mikhail Mishustin, the highest-ranking Russian official to visit Beijing
since Moscow sent thousands of troops to Ukraine in February 2022, held talks with Chinese
President Xi Jinping and Premier Li Qiang.

With the war in Ukraine in its second vear and Hussia increasingly feeling the weight of
Western sanctions, Moscow is leaning on Beijing for support, far more then China on Russia,
feeding on Chinese demand for oil and gas.

The pressure from the West has shown no sign of easing. with the Group of Seven's
weekend declarations singling both countries out on a series of issues including Ukraine. The
(7 agreed to tighten sanctions against Moscow and urged China to press Russia to withdraw
its forces from Ukraine.

Sub questions

Question Number : 1 Question Id : 92090624601 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements ¢

Statement | :  With the war in Ukraine in its third vear and Russia increasingly
feeling, the weight of western sanctions, Moscow is leaning on Beijing

for support.

Statement [1 : The pressure from the West has shown no sign of easing, with the
Group of Seven's weekend declarations singling both countries out on a

series of issues including Ukraine.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
{(3) Statement [ is true but Statement I is incorrect

{4) Statement [ 15 false but Statement 11 is correct

Options :

92090697201. 1
92090697202. 2
92090697203. 3
92090697204. 4



Question Number : 2 Question Id : 92090624602 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find out one word substitution for the following phrase from the options given below.

‘Mever done or known before’

(1) Unprecedented (2) Unpronounceable
(3)  Unprotected (4) Unquiet
Options :

92090697205. 1
92090697206. 2
92090697207 3
92090697208. 4

Question Number : 3 Question Id : 92090624603 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pact means:

(1) Oral agreement (2) Coherent understanding

{3) Written explanation (4) Formal agreement between parties
Options :

92090697209. 1
92090697210. 2
92090697211. 3
92090697212. 4

Question Number : 4 Question Id : 92090624604 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Moscow is leaning on Beijing means:

(1)  supporting Beijing (2) depending on Beijing
(3)  giving support to Beijing (4) entered into a pact with Beijing
Options :

92090697213. 1
92090697214. 2
92090697215. 3



92090697216. 4

Question Number : 5 Question Id : 92090624605 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pressure from West on Moscow has shown no sign of easing. The underlined phrase
means:

(1) Pressure is increasing.
(2) Pressure is decreasing.
(3) Pressure is continuing at the usual rate.

(4) Pressure has become insignificant.

Options :

92090697217. 1
92090697218. 2
92090697219. 3
92090697220. 4

Sub-Section Number : 2
Sub-Section Id : 920906793
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090624606 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct preposition to complete the following sentence:

| infer your statement that you are not willing to attend the conference;
(1)  from (2) with
(3) across 4) to

Options :

92090697221. 1
92090697222. 2
92090697223. 3
92090697224. 4

Question Number : 6 Question Id : 92090624606 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Choose the correct preposition to complete the following sentence:

| infer your statement that you are not willing to attend the conference;
(1) from (2) with
(3) across (4) to

Options :

92090697221. 1
92090697222. 2
92090697223. 3
92090697224. 4

Question Number : 7 Question Id : 92090624607 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct spelt word out of the given alternatives:

(1) Puerille (2) Puerile
(3) Puerrile (4) Purrile
Options :

92090697225. 1
92090697226. 2
92090697227. 3
92090697228. 4

Question Number : 7 Question Id : 92090624607 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct spelt word out of the given alternatives:

(1) Puerille (2) Puerile
3) Puerrile (4) Purrile
Options :

92090697225. 1
92090697226. 2
92090697227. 3
92090697228. 4



Question Number : 8 Question Id : 92090624608 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose one word for the following sentence:

The plants and vegetation of a certain region.

(1 flora (2) fauna
(3) forest (4) wvegetation
Options :

92090697229. 1
92090697230. 2
92090697231. 3
92090697232. 4

Question Number : 8 Question Id : 92090624608 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose one word for the following sentence:

The plants and vegetation of a certain region.

(1 flora (2) fauna
(3) forest (4) wvegetation
Options :

92090697229. 1
92090697230. 2
92090697231. 3
92090697232. 4

Question Number : 9 Question Id : 92090624609 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct sentence.

(1) | asked Anita if she had done all sums.
(2) | ask Anita if she do all sums.
(3) | asking Anita if she had done all sums.
(4) | asked Anita if she done all sums.
Options :
92090697233. 1
92090697234. 2

92090697235. 3
92090697236. 4

Question Number : 9 Question Id : 92090624609 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sentence.

(1) | asked Anita if she had done all sums.
(2) | ask Anita if she do all sums.
(3) | asking Anita if she had done all sums.
(4) | asked Anita if she done all sums.
Options :
92090697233. 1
92090697234. 2

92090697235. 3
92090697236. 4

Question Number : 10 Question Id : 92090624610 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct passive form of the following sentence.
Do you imitate others?

(1)  Have others been imitated by you?
(2)  Have others being imitated by you?
(3)  Are others imitating you?

(4)  Are others imitated by you?



Options :

92090697237. 1
92090697238. 2
92090697239. 3
92090697240. 4

Question Number : 10 Question Id : 92090624610 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct passive form of the following sentence.
Do you imitate others?

(1)  Have others been imitated by you?
(2)  Have others being imitated by you?
(3)  Are others imitating you?

(4)  Are others imitated by you?

Options :

92090697237. 1
92090697238. 2
92090697239. 3
92090697240. 4

Question Number : 11 Question Id : 92090624611 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which Union Ministry of India launched ‘Temple 360° portal?

(1) Ministry of Tourism

(2)  Ministry of Culture

(3)  Ministry of Housing and Urban Affairs
(4) Ministry of Home Affairs

Options :

92090697241. 1
92090697242. 2
92090697243. 3
92090697244. 4



Question Number : 11 Question Id : 92090624611 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which Union Ministry of India launched ‘Temple 360° portal?

(1) Ministry of Tourism

(2) Ministry of Culture

(3) Ministry of Housing and Urban Affairs
{4) Ministry of Home Affairs

Options :

92090697241. 1
92090697242. 2
92090697243. 3
92090697244. 4

Question Number : 12 Question Id : 92090624612 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Guidance’ is the investment promotion agency of which Indian state?

(1 Tamilnadu (2) Gujarat
(3) Kerala (4) Delhi
Options :

92090697245. 1
92090697246. 2
92090697247. 3
92090697248. 4

Question Number : 12 Question Id : 92090624612 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Guidance’ is the investment promotion agency of which Indian state?

(1 Tamilnadu (2) Gujarat
(3) Kerala (4) Delhi
Options :

92090697245. 1



92090697246. 2
92090697247. 3
92090697248. 4

Question Number : 13 Question Id : 92090624613 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following is not a Noble Price winner?

(1) Ravindranath Tegore (2) Dr.CV.Raman
(3) Amritaya Sen (4) Homi Jahangir Bhabha
Options :

92090697249. 1
92090697250. 2
92090697251. 3
92090697252. 4

Question Number : 13 Question Id : 92090624613 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following is not a Noble Price winner?

(1) Ravindranath Tegore {2) Dr.CV.Raman
(3)  Amritaya Sen (4) Homi Jahangir Bhabha
Options :

92090697249. 1
92090697250. 2
92090697251. 3
92090697252. 4

Question Number : 14 Question Id : 92090624614 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which country is not the member of 'G 207

(1) India (2) Nepal
(3) China (4) USA.
Options :

92090697253. 1
92090697254. 2
92090697255. 3
92090697256. 4

Question Number : 14 Question Id : 92090624614 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which country is not the member of 'G 207?

(1) India (2) Nepal
(3) China (4) USA.
Options :

92090697253. 1
92090697254. 2
92090697255. 3
92090697256. 4

Question Number : 15 Question Id : 92090624615 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List |
{Dance Form)

List Il
(Artist)

(A) Bharat Natyam ()  Sonal Mansingh
(B) Kathak () Rukmini Devi
(C) Kuchipudi (1) Birju Maharaj
(D) Odissi (IV) Yamini Reddy

Choose the correct answer from the options given below:

(1) (A=), B)-(1), (O)-0). (D)-(IV)

(2) (A=), (B)-(1), (C)-(1V), (D)-(1)

(3) (A0, (B)-(I), (C)-(1), (D)-(IV)

(4) (A=), (B)-(), (C)-(), (D)-(IV)
Options :

92090697257. 1
92090697258. 2
92090697259. 3
92090697260. 4

Question Number : 15 Question Id : 92090624615 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List | with List Il :

List I
(Artist)

List |
{Dance Farm)

(A) Bharat Natyam ()  Sonal Mansingh
(B) Kathak ()  Rukmini Devi
(C)  Kuchipudi (1)  Birju Maharaj
(D) Odissi (IV) Yamini Reddy

Choose the correct answer from the options given below:

(1) (A-am), (B)-(1), (O-(), (D)-(IV)
(2) (A=), (B)-(lIT), (C)-(IV), (D)-(I)
(3} (A=, (B)-(I), (C)-(1), (D)-(IV)
(4) (A, (B)-(1), (C)-(), (D)-(IV)



Options :

92090697257. 1
92090697258. 2
92090697259. 3
92090697260. 4

Question Number : 16 Question Id : 92090624616 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a certain code BROTHER is written as EQRSKDU. How is RECENT written in that code:

(m UHFHQW (2) QDBDMS
(3) UDFDQS (4) UDGDRS
Options :

92090697261. 1
92090697262. 2
92090697263. 3
92090697264. 4

Question Number : 16 Question Id : 92090624616 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

in a certain code BROTHER is written as EQRSKDU. How is RECENT written in that code:

{1 UHFHQW (2) QDBDMS
(3) UDFDQS (4) UDGDRS
Options :

92090697261. 1
92090697262. 2
92090697263. 3
92090697264. 4

Question Number : 17 Question Id : 92090624617 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the word which is least like others in the group:

(1) Bat (2) Artic Term
(3) Ostrich (4) Penguin
Options :

92090697265. 1
92090697266. 2
92090697267 3
92090697268. 4

Question Number : 17 Question Id : 92090624617 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the word which is least like others in the group:

(1) Bat (2) Artic Term
(3) Ostrich {4) Penguin
Options :

92090697265. 1
92090697266. 2
92090697267. 3
92090697268. 4

Question Number : 18 Question Id : 92090624618 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Six friends Astha, Bina, Chetna, Devika, Eshita and Falguni are sitting in a row facing
towards North. Chetna is not sitting beside Devika who is sitting on the extreme right.
Eshita is between Astha and Chetna. Astha is not sitting beside Falguni and Devika. Bina is
between Falguni and Devika. Who is the immediate right of Astha?

(1 Bina {2) Chetna
(3) Eshita (4) Falguni
Options :

92090697269. 1
92090697270. 2
92090697271. 3
92090697272. 4



Question Number : 18 Question Id : 92090624618 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Six friends Astha, Bina, Chetna, Devika, Eshita and Falguni are sitting in a row facing
towards North. Chetna is not sitting beside Devika who is sitting on the extreme right.
Eshita is between Astha and Chetna. Astha is not sitting beside Falguni and Devika. Bina is
between Falguni and Devika. Who is the immediate right of Astha?

(n Bina (2) Chetna
{3) Eshita (4) Falguni
Options :

92090697269. 1
92090697270. 2
92090697271. 3
92090697272. 4

Question Number : 19 Question Id : 92090624619 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Look at the series: 1296, 648, 216, 108, 36, ...

Which one of the following numbers should come next in the series?

(1) 18 (2) 16
(3) 14 4) 12
Options :

92090697273 1
92090697274. 2
92090697275. 3
92090697276. 4

Question Number : 19 Question Id : 92090624619 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Look at the series: 1296, 648, 216, 108, 36, ..........

Which one of the following numbers should come next in the series?

(1) 18 (2) 16
(3) 14 4) 12
Options :

92090697273. 1
92090697274. 2
92090697275. 3
92090697276. 4

Question Number : 20 Question Id : 92090624620 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a row of students, the position of Vijay from the left side of the row is 16" and the
position of Vijay from the right side of the row is 28" Find the total number of students in
the row?

(1) 42 (2) 43
(3) 44 (4) 45
Options :

92090697277. 1
92090697278. 2
92090697279. 3
92090697280. 4

Question Number : 20 Question Id : 92090624620 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a row of students, the position of Vijay from the left side of the row is 16" and the
position of Vijay from the right side of the row is 28" Find the total number of students in
the row?

(1) 42 (2) 43
(3) 44 (4) 45
Options :

92090697277. 1
92090697278. 2



92090697279. 3
92090697280. 4

Question Number : 21 Question Id : 92090624621 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A train 220 m long in moving at 54 km/h. Time taken by it to cross a person running in the
same direction with speed of 18 km/h is:

(1) 30s (2) 20s
(3) 25s (4) 22s
Options :

92090697281. 1
92090697282. 2
92090697283. 3
92090697284. 4

Question Number : 21 Question Id : 92090624621 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A train 220 m long in moving at 54 km/h. Time taken by it to cross a person running in the
same direction with speed of 18 km/h is:

(1) 30s (2) 20s
(3) 25s (4) 22s
Options :

92090697281. 1
92090697282. 2
92090697283. 3
92090697284. 4

Question Number : 22 Question Id : 92090624622 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



For the such rate of Interest, the ratio of amount for one year under simple interest and
for two years under compound interest compounded annually is 3:4. Find the rate of
intrest:

X
(1) 15% % (2) 20%
3) 33% % @) 30%

Options :

92090697285. 1
92090697286. 2
92090697287. 3
92090697288. 4

Question Number : 22 Question Id : 92090624622 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For the such rate of Interest, the ratio of amount for one year under simple interest and
for two years under compound interest compounded annually is 3:4. Find the rate of
intrest:

X
(1) 15? % (2) 20%
3) 33% % @ 30%

Options :

92090697285. 1
92090697286. 2
92090697287. 3
92090697288. 4

Question Number : 23 Question Id : 92090624623 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A and B are the independent events such that P(AUB) = % and P(B)= g .Then P[4}

is equal to:
3 4
1 = P
(1) 2 (2) 3
1 3
3 - 4) =
(3) 5 (4) 3
Options :

92090697289. 1
92090697290. 2
92090697291. 3
92090697292. 4

Question Number : 23 Question Id : 92090624623 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A and B are the independent events such that P(AuB)= % and P(B)= g .Then P(A)

is equal to:
3 4
1 = 2) =
(1) 2 (2) 5
1 3
3 = 4 =
(3) 3 (4) 5
Options :

92090697289. 1
92090697290. 2
92090697291. 3
92090697292. 4

Question Number : 24 Question Id : 92090624624 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 3x+4y = 60 and 4x+3y = 59, then the value of x+y is:

(1 17 (2) 15
(3) 16 (4) 18

Options :



92090697293. 1
92090697294. 2
92090697295. 3
92090697296. 4

Question Number : 24 Question Id : 92090624624 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 3x+4y = 60 and 4x+3y = 59, then the value of x+y is:

(1) 17 i2) 15
(3) 16 (4) 18
Options :

92090697293. 1
92090697294. 2
92090697295. 3
92090697296. 4

Question Number : 25 Question Id : 92090624625 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A sphere of maximum possible size is made out of a solid woodern cylinder of height
equal to its diameter of the base. The percentage of the wastage of the wood in the
process Is:

(1) 100/3 % (2) 80/3 %
(3) 70/3 % (4) 30%
Options :

92090697297. 1
92090697298. 2
92090697299. 3
92090697300. 4

Question Number : 25 Question Id : 92090624625 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A sphere of maximum possible size is made out of a solid woodern cylinder of height
equal to its diameter of the base. The percentage of the wastage of the wood in the
process is:

(1) 100/3 % (2) 80/3 %
(3) 70/3 % (4) 30%
Options :

92090697297. 1
92090697298. 2
92090697299. 3
92090697300. 4

Part B: Material Science and Technology

Section Id : 920906488
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906794
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090624626 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a plane makes intercept as of 24,14 &054 on the crystallographic axes
ofaCrystal witha:b:c=4:3: 1. The correct set of miller indices is?

1 (201)

2. (3232)

3. (232)

4. (123)

Options :

92090697301. 1
92090697302. 2
92090697303. 3



92090697304. 4

Question Number : 26 Question Id : 92090624626 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

uﬂ’rﬁﬂﬂm‘s’a b:c=4:3:1% 9 fhed & beamicrs sef w
24 1A &054 1 Y T 8| 3wt Frer 338w wy= &

1. (2017)
2, 1324)
3. {2 3 2]
4. 2 3)
Options :

92090697301. 1
92090697302. 2
92090697303. 3
92090697304. 4

Question Number : 27 Question Id : 92090624627 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find resistivity of an n-type semiconductor using the following data !
The density of conduction electrons and holes are & = 10*% cm ™ and
2 % 10% o respectively
Mobility of conduction electrons = 2.0 x 10% cm® v 572
Mability of holes = 100 cm? V2 572

1. 43.27 Om

2, 43.21 0Om

3. 44.64 Om

4. 40.57 Om

Options :

92090697305. 1
92090697306. 2
92090697307. 3
92090697308. 4

Question Number : 27 Question Id : 92090624627 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FufciRad gaa1si &1 IUAR S U n-2lgy & HERIdas &) Ul rd
HIfoTe:

| sadeil SR fdaR (@) &1 °9d $H: 6 = 10" cm2 @Yl

2 % 102 em=.

Ydlg® gaideHl S ALl = 2.0 x 10° cm? V' 5™

faaR (@1 ! faeiierdl = 100 cm? v+ s

4327 am

43.21 m

44,64 Om

4057 Om

a5

Options :

92090697305. 1
92090697306. 2
92090697307. 3
92090697308. 4

Question Number : 28 Question Id : 92090624628 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What Is the full form of LED?
1. Light Emission device
2. Llight - Emitting diode
3. Light - Electronic diode
4. Light - Electrical device

Options :

92090697309. 1
92090697310. 2
92090697311. 3
92090697312. 4

Question Number : 28 Question Id : 92090624628 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



LED &1 el 31 82

. U IeHuH JUHI0
U1 IHed SIS
YT gaci-—e SUHIl

U1 faqygd Ius

BoWwon

Options :

92090697309. 1
92090697310. 2
92090697311. 3
92090697312. 4

Question Number : 29 Question Id : 92090624629 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the Hall coefficient of sodium, based on free electron model. Sodium has BCC
structure and the side of the cube is 4.254 ;
1, 245 =107 mic?

2. 245 %10 mic

3 Sx1FmC!

4. 5x1FFm3ic?

Options :
92090697313. 1
92090697314. 2

92090697315. 3
92090697316. 4

Question Number : 29 Question Id : 92090624629 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e Sode Hisd & STUR W GIfSgH &1 gld Uid J1d &Y, ifsgH &1 BCC

Tee & o v @ge) # yan 4254 g
1. 245 x 107" m?C™
2. 245 x 107° m’C?
3. 5x 102 miC?
4. 5x 10*m’C?

Options :
92090697313. 1



92090697314. 2
92090697315. 3
92090697316. 4

Question Number : 30 Question Id : 92090624630 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The magnetic susceptibility of a Paramagnetic materials is -
1. Positive
2. Negative
3. Can be Positive or Negative
4. One

Options :

92090697317. 1
92090697318. 2
92090697319. 3
92090697320. 4

Question Number : 30 Question Id : 92090624630 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U g (REUeH) yard & deoiy smrfedl
. GHRIA® B8Rl &

THFREP el &
USRS U1 TSRS &l Ul &

T Bl @

Bowopo

Options :

92090697317. 1
92090697318. 2
92090697319. 3
92090697320. 4

Question Number : 31 Question Id : 92090624631 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The correct expression for Fermi Dirac distribution function:
[Here fiE) = Fermi Dirac distribution function,
Kz = Boltzmann constant
g = Chemical potential
E =Energy of electronic state
T =Temperature)

f(£)=EHNRRT o)

1.
_ !
J{H-m
2.
|
- T T
; :[’ :I Ll|j_—_.'|i|.-'hl’l"l |
1
" I{E‘J—m

Options :

92090697321. 1
92090697322. 2
92090697323. 3
92090697324. 4

Question Number : 31 Question Id : 92090624631 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HHI-[&® faaor v &1 98l §F ¢
(@&l f(E) = BHI-FETe® v wer,
Kg = AlecHHA i

u = fdve
E = ZadT® SR
T =H|-q]:":n|
1 F(E)=FMIKBT 4
|
f(E) =
, AE-uKpl ||
g !
f“} '{)“,'.. uR pl i
1
4. flE)= o\ E+u) KT 4
Options :

92090697321. 1
92090697322. 2



92090697323. 3
92090697324. 4

Question Number : 32 Question Id : 92090624632 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which curve is correct for direct band gap material. Here K is wave vector; E is
energy of electron?

E
1 .'I Conduction bansl
= K
‘\-IIIPI = I I.
E
I'.L _..'I Condustion bomnd
‘."\. bs =
K
2
,-". -"-\I Valence hand
II 1
w B
]
\ J Valenee band
|
K
3
\ j Conduction band
—
. E
\J Valence band
K
4
/-\\1 Conduction hand

Options :

92090697325. 1
92090697326. 2
92090697327. 3
92090697328. 4



Question Number : 32 Question Id : 92090624632 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1






Ude 98 U 3i¢f Fraies & ford S 91 9% Hel
872
(@&l K=T% 9iew, £ = gdaeH &1 3l

v
|




Options :

92090697325. 1
92090697326. 2
92090697327. 3
92090697328. 4

Question Number : 33 Question Id : 92090624633 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Weidman - Franz Law states that the ratio of thermal conductivity and electrical
conductivity of metal is :

Ke = Boltzmann constant

e = electronic charge

k = Thermal conductivity

9 - Electrical condu ctivity

1. K

R
3 30 2
K:E!“‘”Wi
¥\ e o
4. R
g=2 [£a]Z
3l e | X

Options :

92090697329. 1
92090697330. 2
92090697331. 3
92090697332. 4

Question Number : 33 Question Id : 92090624633 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



q138 T4 - Thal &1 a9 dedl 8 & oI 31 S Fraddr SR faggd arddar
B AU :

Ke =mﬁqmﬁ$

e = A T 319

k = HEHIT Freddl

© = {egd aasd

1 ] 3 |~. =2
8 _=nf [A_;],
> K 3 ¢
MK YT
T
K’=—( 3] =
3. 3\ e o
(K : T
o2 (BT
4. 3 A - 1‘:.
Options :
92090697329. 1
92090697330. 2
92090697331. 3
92090697332. 4

Question Number : 34 Question Id : 92090624634 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Effective mass of the free electron in a semiconductor crystal is defined as :

1 1 d°E

- m* h* dK-
2 a:a‘:%ﬁ
h=dK=

3 m"—hzié_
dk

o L _1dE
T om* e dK

Options :

92090697333. 1
92090697334. 2
92090697335. 3
92090697336. 4



Question Number : 34 Question Id : 92090624634 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Us 31t] AT fohed o Udh Yad suiaeH &1 Goud gyt g :

. 1 _1dE
- m* K% dK?
2. u.r"'=iqdfi::r
h= dK*
3. m*=h2££
ik
ey
m* }p* dK
Options :

92090697333. 1
92090697334. 2
92090697335. 3
92090697336. 4

Question Number : 35 Question Id : 92090624635 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a semiconductor, the effective mass of a hole is _ the effective mass of an
electron at the same point on an energy band.

1. same as

2. opposite to

3. comparatively less than

4. comparatively more then

Options :

92090697337. 1
92090697338. 2
92090697339. 3
92090697340. 4

Question Number : 35 Question Id : 92090624635 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Us StHa® U UH gid &1 UHTd] GeqdH Sl a8 R IS ¢l fag WU
gaiae i [ guTdl ge0HHE & RIS

1. SRR

2. faudia

3. 3U&THd HH

4. 3fUeTPHd 3ifEd

Options :

92090697337. 1
92090697338. 2
92090697339. 3
92090697340. 4

Question Number : 36 Question Id : 92090624636 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Free Electron Approximation assumes that

the mutwal interaction of electrons is neglected
the metallic ions play a major role

the metallic ions do not play any roie

v il

the metallic ions are considered to be mobile

Options :

92090697341. 1
92090697342. 2
92090697343. 3
92090697344. 4

Question Number : 36 Question Id : 92090624636 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o gade [ HiHed (Tureiae-) ¥ 98 yRon & a6 -
1. SadeH &t URERS foban Iuferd fasar s godn g1
2. YIfcd® 3104 U ugE YT A g
3. uif@® g B P12 YT 78] erdl B
4. Y@@ T B! ML W= S 2 |
Options :

92090697341. 1
92090697342. 2
92090697343. 3



92090697344. 4

Question Number : 37 Question Id : 92090624637 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following options is not true about X-Rays?
1. They consists of high energy photons.
2. They travel in straight line.
3. They are longitudinal waves.
4. Their wavelengths lie in the range from 0.01 nm to 10 nm.

Options :

92090697345. 1
92090697346. 2
92090697347. 3
92090697348. 4

Question Number : 37 Question Id : 92090624637 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

X-fvon & an A Fgfafea ¥ 9 9 w1 faee wel =g 87
1. 39 I el YT (BIEH) Bld &
2. 3 et v #mE Hd B
3. 4 e a¥ g
4. 3D a1 ¢ 0.01 - 10 nm B

Options :

92090697345. 1
92090697346. 2
92090697347. 3
92090697348. 4

Question Number : 38 Question Id : 92090624638 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The 5.1. unit of activity is (with reference to radioactive nuclide)
Curije (i)

Becquerel (Bg)

Sieverts (Sv)

Gauss [G)

o o

Options :



92090697349. 1
92090697350. 2
92090697351. 3
92090697352. 4

Question Number : 38 Question Id : 92090624638 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gishaar &15.. HE® &
Rfetienif gaams & da )
1. &G (Ci)
2. §%¥d (Bq)
3. Hiacd (Sv)
4. 79 (G)

Options :

92090697349. 1
92090697350. 2
92090697351. 3
92090697352. 4

Question Number : 39 Question Id : 92090624639 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are desirable properties for a material for making
permanent magnets ?

1. high retentively and high coercivity

2. high retentively and low coercivity

3. low retentively and high coercivity

4. lowretentively and low coercivity

Options :

92090697353. 1
92090697354. 2
92090697355. 3
92090697356. 4

Question Number : 39 Question Id : 92090624639 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fofafad 5 @ 14 @ U vs verd § Rl gae 399 & e aiea g
1. 3= YRl 9y 3= Fraeig ufadieehdl
2. I YRUTRiTedT oyl Y ey ufaliyedsd
3. 3= YRRl au g UioRiysdl
4. 199 yRURITd 9y TS HiaRiudd

Options :

92090697353. 1
92090697354. 2
92090697355. 3
92090697356. 4

Question Number : 40 Question Id : 92090624640 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Vander Waal derived the following equation of state for a real gas :
(242 ) (v —b)=n1
v
Where a and b are small positive constants. Which of the following is true for ‘a’
and 'b'?
1. "a'represents the average force of attraction between the molecules.
A0’ represents the average torce of attractinn hetween the maoleriles
3. ‘a'and 'b’ both represent the average force of attraction between the
miolecules.
4. "a'and 'b’ both represent the total volume of molecules.

Options :

92090697357. 1
92090697358. 2
92090697359. 3
92090697360. 4

Question Number : 40 Question Id : 92090624640 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



US arkdfad T (@ga 79) & i aisy aid F Fafaiad sawd e &t
UM F;

[f*-‘-ﬂ]u b)=nRT

v

Wl a 9UT b BIT YBRIAS (BRI g1 ‘a’ 3R 'b' & favg & A &1 W1 fadey
et 87
1. 'a" AU & i fHYUl F Sid 9 o1 UiafAita Fa1 2|
2. 'b' SULSHT & did THUU & Sd Fd & Yl HIA B
3. ‘a’ 3R b S SO & & Y SIHHUl ad &1 Uiafia Hd 81
4. '3’ 3R b T SHU[SH Dl Hd 1 & UfaFita o g1

Options :

92090697357. 1
92090697358. 2
92090697359. 3
92090697360. 4

Question Number : 41 Question Id : 92090624641 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Concept of temperature is introduced by
1. Zeroth Law of Thermodynamics
2. First Law of Thermodynamics
3. Second Law of Thermodynamics
4. Third Law of Thermodynamics

Options :
92090697361. 1
92090697362. 2

92090697363. 3
92090697364. 4

Question Number : 41 Question Id : 92090624641 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT B SFYRT [Fad g Udild® 31 1152
1. SWFTfa®! @1 YA a1 FaH
2. SRS &1 uyH Faq
3. RISt &1 fgda fHan
4, FHTIfdS! &1 g Fas

Options :

92090697361. 1
92090697362. 2
92090697363. 3
92090697364. 4

Question Number : 42 Question Id : 92090624642 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A, Work done by a conservative force is dependent on the path taken.
B. Gravitational force is a conservative force
C. Frictional force is a conservative force
D. Work done during a round trip by a conservative force is non-zero.
Choose the most appropriate answer from the options given below :
1. AOnly
2. BOnly
3. COnhy
4. [ Only
Options :

92090697365. 1
92090697366. 2
92090697367 3
92090697368. 4

Question Number : 42 Question Id : 92090624642 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A. Teelt ga gR e ar S forw Ty i) AR S g
B. TE@I®YU| gl U 4iel 9 gl
C. ©YU g U Hiel 9 8|
D. O & U FaPh: & oI Gval ga gR1 g a1 &1 g gl
Fofafed faeel # 98l I &1 994 i
1. Hdd A
2. ®ddB
3. dadC
4. Hdd D

Options :

92090697365. 1
92090697366. 2
92090697367. 3
92090697368. 4

Question Number : 43 Question Id : 92090624643 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rectilinear propagation of light means
1. It travels in vacoum
2. It travels in straight line
3. Itis transverse in nature
4. Itis plane - polarized

Options :

92090697369. 1
92090697370. 2
92090697371. 3
92090697372. 4

Question Number : 43 Question Id : 92090624643 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UBTY & HIe T THR 67 3 & -
1. ¥g Fafd d amm a8l
2. Og Hiell a1 # g a1 g
3. U8 U g g
4. Ug gHqd-Yfad g



Options :

92090697369. 1
92090697370. 2
92090697371. 3
92090697372. 4

Question Number : 44 Question Id : 92090624644 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is based on the wave nature of electromagnetic
radiation 7

1. Photoelectric effect

2. Pair - production

3. Tunnelling phenomenon

4. Molecular collision

Options :

92090697373. 1
92090697374. 2
92090697375. 3
92090697376. 4

Question Number : 44 Question Id : 92090624644 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafafad & 9 o a1 fagga ey fafeeu &t adn-ughi W snula g2
1. Wb fagqgd uvE

2. OOR JdIGq
3. SiRTdA |9 (CAfR) 'e
4. 3TUTfdd THId

Options :

92090697373. 1
92090697374. 2
92090697375. 3
92090697376. 4

Question Number : 45 Question Id : 92090624645 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Electron Paramagnetic Resonance (EPR) spectroscopy is used to study.

1. Morphology of nanomaterials
. Crystal structure of a solid

2
2. Reactive oxide species
4. Oxidation states of elements

Options :

92090697377. 1
92090697378. 2
92090697379. 3
92090697380. 4

Question Number : 45 Question Id : 92090624645 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A IRTHARS TG94 (EPR) Wb Ul &1 3T S & o waeT faeg
dar el

1. 1 uyerd & Areiare

2. U 319 & foheed ST

3. Ufafhareiia sifaEs & UPR

4. dcdi B TSI SET

Options :

92090697377. 1
92090697378. 2
92090697379. 3
92090697380. 4

Question Number : 46 Question Id : 92090624646 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One Is labelled as Assertion A and the other is
labelled as Reason R.
Assertion A : p- and n-type semiconductor are extrinsic semiconductors
Reason R : p- and n-type semiconductor are formed by the doping of trivalent and
pentavalent impurities in intrinsic semiconductor respectively
In the light of the above statements, choose the correct answer from the options
given below !

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A

3. Aiscorrect but R is not correct

4. A isnot correct but R is correct



Options :

92090697381. 1
92090697382. 2
92090697383. 3
92090697384. 4

Question Number : 46 Question Id : 92090624646 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I &l FyE RU U §, ua sifiyey= & =9 1 forfad @ df gER1 S8® SRU &
FUH,
AHTUBEY: p <R n T8U & Hefara® a7l it ¢ |
BRUL: p 3R n T3Y & i HH: sfake sitEmas o ergdce 3R
Uedeie il & SIftn 3§ &4 8|
IR Y & 3fdd H, A AU e i 9 3 9gl 3w &1 954 Pifor:
1. ASIRREHAITAE, 3R R, A B el AR §
2. ASMRRIHI T E, 3R R A DI el =T T8l 8
3. AGTE PR T
4 ASAR AFTRTTE

Options :

92090697381. 1
92090697382. 2
92090697383. 3
92090697384. 4

Question Number : 47 Question Id : 92090624647 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following materials increases the capacitance of a capacitor to
maximum?
1. Air
2. Strontium Titanate
3. Paper
4. Distilled water

Options :
92090697385. 1
92090697386. 2

92090697387. 3
92090697388. 4



Question Number : 47 Question Id : 92090624647 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrofefad 7 9 S o1 vard te Gy &t 41idr 1 siftiesan d& 9e1 3d1 82

1. 99
2. IREH e

3. eI

4, 3ARId ¥d
Options :
92090697385. 1
92090697386. 2
92090697387. 3
92090697388. 4

Question Number : 48 Question Id : 92090624648 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Im an extrinsic semiconductor, which of the following is true? (n, and ne be the
number of holes and electrons in a semiconductor respectively)

Ng> Ng

No< N=

Ng # MNe

Ng = Me

£ Ra e

Options :

92090697389. 1
92090697390. 2
92090697391. 3
92090697392. 4

Question Number : 48 Question Id : 92090624648 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U dTel Stfra® & U (S8l n, 94T n, SEaS HU: 81 qul Saaei-l o
= 8)

1. Nnp>ne
2. Np < Ng
3. np?ﬁﬂu
4. np=ne

Options :



92090697389. 1
92090697390. 2
92090697391. 3
92090697392. 4

Question Number : 49 Question Id : 92090624649 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

V =al:z b
Moseley's law of the characteristic X-rays is : ': .In this

1. Both'a"and ‘b’ depend on material used.

2. Both'a'and ‘b’ are independent of material used.

3. 'a'is independent but 'b’ depend an type of material used.
4. 'B'isindependent but 'a’ depends on material used.

Options :

92090697393. 1
92090697394. 2
92090697395. 3
92090697396. 4

Question Number : 49 Question Id : 92090624649 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

siftraem GRaehRfees) x faxvl & e dma ot fam V=9 P g ogi

1. 'a’ 3R b’ 1 Uy yaTd W R & B

2. 'a' 3R 'b' FIHT e ugre ¥ tadd B

3. ‘a’ WA ¢ Afd b UgE ugld & USHR W AR S g

4. 'b T@ad ¢ AP ‘2’ WY Uerd R AU #ar g
Options :

92090697393. 1
92090697394. 2
92090697395. 3
92090697396. 4

Question Number : 50 Question Id : 92090624650 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is true ?
A, Allguid - gas phase transition at the critical point is first order phase transition.
B. A paramagnet - ferromagnet phase transition is first order phase transition.
C. Aliguid - gas phase transition away from the critical point is first order phase
transition
D. The plot of specific heat as a function of temperature shows a discontinuity in
first order phase transition.
Choose the correct answer from the options given below :
1. AandB
2. BandC
3. OnlyC
4. Only D

Options :

92090697397. 1
92090697398. 2
92090697399. 3
92090697400. 4

Question Number : 50 Question Id : 92090624650 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFofafEa § 9 &9 9 sy g3 82
A, ?ﬂmﬁg@wmﬁawﬁﬁmmwummﬁww
B. & WHifcd-Biulcd UaR] THHUl Ueh UYH $ifc &1 U] GHHU &
c. fpted Mg A R U X 19 WIGRIT GHHY Ud UYH SHife 1 urae
HHHU §
D. UYH $Ife HT UITRIT HhHU H 9HH & o &4 H iRy I &1 e
Al <9 &
12 fau e fawel 7 @ Tel IR &1 904 ST
1. ASIRB
2. B3RC
3. HadC
4. &ddD

Options :

92090697397. 1
92090697398. 2
92090697399. 3
92090697400. 4

Question Number : 51 Question Id : 92090624651 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Graphene nanosheet is a
1. One dimensional nanostrcture
2. Two dimensional nanostrcture
3. Three dimensional nanostrcture
4. Zero dimensional nanostrcture

Options :

92090697401. 1
92090697402. 2
92090697403. 3
92090697404. 4

Question Number : 51 Question Id : 92090624651 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UIEI A & -

1. Udh ST 991 TE
2. &l arHt 3 WA
3. 3 smandt J=1 @
4. I STATH A HEA

Options :

92090697401. 1

92090697402. 2

92090697403. 3

92090697404, 4

Question Number : 52 Question Id : 92090624652 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Carbon nanotubes prosess
1. Zero degree of freedom
2. Zero degree of confinement
3. One degree of freedom
4. Two degree of confinement

Options :

92090697405. 1
92090697406. 2
92090697407. 3
92090697408. 4



Question Number : 52 Question Id : 92090624652 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HTET TEE A S § -
1. A WdAdI &1 SIfT
2. YYD B
3. U Wdadl ol ST
4. GI0Y B Bife

Options :

92090697405. 1
92090697406. 2
92090697407. 3
92090697408. 4

Question Number : 53 Question Id : 92090624653 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

There is Plenty of Room at the bottom' statement was mentioned by.
1. Albert Einstein
2. Richard Feynman
3. Max Planck
4.

James Chadwick

Options :

92090697409. 1
92090697410. 2
92090697411. 3
92090697412. 4

Question Number : 53 Question Id : 92090624653 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'Plenty of Room at the bottom' farereh gRT aftia Sy ¢ 2
1. 3eEd A
2. Foad i
3. Ay wid
4. o Trsfas
Options :
92090697409. 1



92090697410. 2
92090697411. 3
92090697412. 4

Question Number : 54 Question Id : 92090624654 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Calculate the de-Broglie wavelength of electron which is accelerated from rest
through the potential difference of 80 volt, (me=3.1= 107 kg)

1.37 = 107%'m

137 =107 m

1.37 x10°% m

137 x10°% m

B 0P b

Options :

92090697413. 1
92090697414. 2
92090697415. 3
92090697416. 4

Question Number : 54 Question Id : 92090624654 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

goiaeid B S1-sivell av aud &1 TUAT $¥ | o farmraw @ go diee &
fTaTR gR1 ARG BT ST 81 (me = 3.1 x 102 kg)

1. 1.37x10% m

2. 137 x10" m

3. 137x10% m

4. 137x10% m

Options :

92090697413. 1
92090697414. 2
92090697415. 3
92090697416. 4

Question Number : 55 Question Id : 92090624655 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct statement
1. Muclear forces are short range and charge independent
2. Nuclear forces are weak but exist everywhere
3. Nuclear forces are long range and charge dependent
4. MNuclear forces are strongest and charge dependent

Options :

92090697417. 1
92090697418. 2
92090697419. 3
92090697420. 4

Question Number : 55 Question Id : 92090624655 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el U I -
1. UTHTY] ¢ DH g3l & Bld & SR SA1A § Wad sld 8|
2. URHM] 96 $HAR 8Id & cidh g oiTg UTd ol § 1
3. URHM] §d ddl glie 8id 8 SR 3Ma W AR §1
4. UTHIY] 9 HEY HSgd gid & SR faY R R g €1

Options :

92090697417. 1
92090697418. 2
92090697419. 3
92090697420. 4

Question Number : 56 Question Id : 92090624656 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement | : in low temperature regime, the higher energy states in Boltzmann

distribution for several energy levels are almost empty.

e | I
Statement Il : Under the condition AE = kT, Boltzmann's ratio reduces to Yo
In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement li are true
2. Both Statement | and Statement i are false
3. Statement | is true but Statement |l Is false

4. Statement | is false but Statement Il is true

Options :



92090697421. 1
92090697422. 2
92090697423. 3
92090697424. 4

Question Number : 56 Question Id : 92090624656 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a Py RuU g
FYF |: FH YA A1 83 B Fell & s W & dieewid faavu i 3=
Sl HFRITE TTH e gidl 8|

N, 1

W%II:WWWJW.&E= kT 7, Sresi A ST U eaR e ¢ @
I
IRIF HYA & 3Malid |, 1 ST 70 f[dFedl T I T8l IR F1 994 DIeI:

1. FYF IR SAT I &

2. YA SR 11 SF T &

3. YA | 9 g, dfch &Y || 39 &

4 HYT | SMTT B, AT FUT 1 T B

Options :

92090697421. 1
92090697422. 2
92090697423. 3
92090697424. 4

Question Number : 57 Question Id : 92090624657 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following element possess cubic crystal structure?
1. Silver [Ag)
2. Silicon {Si)
3. Carbon {Diamond)
4. Germanium [Ge)

Options :

92090697425. 1
92090697426. 2
92090697427. 3
92090697428. 4



Question Number : 57 Question Id : 92090624657 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FofofEa o 9 ®F 9 da &1 hed 3= gfes g

1. RIe (Aqg)
2. TafeeH (si)
3. HE (SHHUS)
4, SAFTEH (Ge)

Options :

92090697425. 1

92090697426. 2

92090697427. 3
92090697428. 4

Question Number : 58 Question Id : 92090624658 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Decreasing the dimension of a nanoparticle, what kind of a shift is observed in the
absorption edge in the absorption spectra of a semiconducting nanoparticle.

1. Red shift

2. Blue shift

3. Green shift

4. No shift

Options :
92090697429. 1
92090697430. 2

92090697431. 3
92090697432. 4

Question Number : 58 Question Id : 92090624658 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U 60 & HAH & $H e IR, TP StRad 91H0l & SaQmo Wael &
3T fFR 7 iy YR &1 uRad &@1 9l g

1. 8 R

2. o e

3. Ui Rroe

4. ¥ I

Options :

92090697429. 1
92090697430. 2
92090697431. 3
92090697432. 4

Question Number : 59 Question Id : 92090624659 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following related to crystal defects is incorrect?

1. Point defect is a simplest category of crystal imperfection.

2. Adislocation is a defect in which a line of atoms in not in its appropriate
position.

3. Dislocations are of two types :
(i) Edge dislocation
(i) Screw dislocation

4. Vacancies and interstitials are also type of dislocations only

Options :

92090697433. 1
92090697434. 2
92090697435. 3
92090697436. 4

Question Number : 59 Question Id : 92090624659 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafiiad Sy A 9 &F W fifed oW ((Sthae) & Yey A el T8 8
1. fdig SN fobed srguiar &1 9ed Wd &4 g
2. T@E%ﬁﬁﬁﬁmﬁﬁ%ﬁﬁﬁmﬁaﬁa@ﬁﬁﬂﬁ
gl gl
3. AR &l UHR B gl &
() TR &I reoawyl (U6 fEgdiseF)
(iy  Ud 3fgawyl (%p fsuaidaH)
4. RfFagi 3R iavTe Wi Fad Sasy & 8l UPR g

Options :

92090697433. 1
92090697434. 2
92090697435. 3
92090697436. 4

Question Number : 60 Question Id : 92090624660 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Metallic gold has FCC structure with the unit cell dimension 4.08 A®. Calculate the
metallic radius of the Gold atom.
1. 1.38A°
2. 144 A°
3. 3444
4. 438 A°
Options :
92090697437. 1
92090697438. 2
92090697439. 3

92090697440. 4

Question Number : 60 Question Id : 92090624660 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YTfcdd e © gfc a & STH 4.08 A° & 1Y FCC U1 8, Al s &
TRHY] B HTfdd B o1 T0HT S

1. 1.38 A®

2. 144 A°

3. 344 A°

4, 438 A°

Options :



92090697437. 1
92090697438. 2
92090697439. 3
92090697440. 4

Question Number : 61 Question Id : 92090624661 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a intermediate stage of sol-gel formation of
nanoparticles?

1. Agglomeration

2. Condension

3. Hydrolysis

4. Sputtering

Options :

92090697441. 1
92090697442. 2
92090697443. 3
92090697444. 4

Question Number : 61 Question Id : 92090624661 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frofafad 7 9 &1 @ Sl & 9id-oid FEt &1 Aedd] @R A8 8|
1. SFAEMEA
2. At
3. gESIR™
4. TeRT

Options :

92090697441. 1
92090697442. 2
92090697443. 3
92090697444. 4

Question Number : 62 Question Id : 92090624662 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is not a method of synthesis of carbon nanotubes?
1. Laser ablation
2. Embossing
3. Arc discharge
4. Chemical vapour depaosition

Options :

92090697445. 1
92090697446. 2
92090697447 3
92090697448. 4

Question Number : 62 Question Id : 92090624662 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafad o @ $ W S 39 @E & deeyo @) faft T8l g

1. TR UsdeH

2. THdIferT

3. 3T S

4. 9IS 9™ THIE

Options :

92090697445. 1
92090697446. 2
92090697447. 3
92090697448. 4

Question Number : 63 Question Id : 92090624663 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the option which is also referred as bucky ball.
1. Carbon nanotubes
2. Can

3. Graphene

4. Quantum dots

Options :

92090697449. 1
92090697450. 2
92090697451. 3
92090697452. 4



Question Number : 63 Question Id : 92090624663 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

39 A ey &1 994 i ol a1 aifa Hi Fg1 Iar g
1. ®EA A &4

2. Ceo

3. B

4, ®IcH 8lcH
Options :

92090697449. 1
92090697450. 2
92090697451. 3
92090697452. 4

Question Number : 64 Question Id : 92090624664 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Following options represents the density of states (D(E)) verses energy (E) curves
(-39.  for materials of different dimensionality. Choose the option which represents the
D{E) for a 1-Dimentional material.

IME)

D{E)

IME)

Options :



92090697453. 1
92090697454. 2
92090697455. 3
92090697456. 4

Question Number : 64 Question Id : 92090624664 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafaiad fawsa [ smard ueral & fore Faf srawrirsii & 994 (D(E)
g1 Sl (E) & 95hi &1 A § | 98 fased 97 &1 U smarH (1-D) Terd &1
yfaita Fa gl

A

]
=
a
1
E
A
=
v o =
E
M
=,
]
3
E
M
4
E
Options :

92090697453. 1
92090697454. 2
92090697455. 3
92090697456. 4



Question Number : 65 Question Id : 92090624665 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the option which doesn’t represents thin film deposition technique?
1. Thermal evaporation

Pulsed laser deposition

Sputtering

Annealing

s

Options :

92090697457. 1
92090697458. 2
92090697459. 3
92090697460. 4

Question Number : 65 Question Id : 92090624665 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g8 fased I3 & 199 e (thin film) P& ae-itss! &1 ufafideE 81 San
1. yHd qredte o
2. Wfed (UeH) TeR W
3. Wehm

4. ofAfem

Options :

92090697457. 1
92090697458. 2
92090697459. 3
92090697460. 4

Question Number : 66 Question Id : 92090624666 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is lebelled as Assertion A and the other is
labefled as Reazon R.
Assertion A : Periodicity of a crystal [attice leads to allowed and forbidden bands.
Reason R : An electron in a crystal moves in a region of constant potential rather
than a periedically varying potential.
In the light of the above statements, choose the most appropriate answer from the
options given below :

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is not the correct explanation of A

3. Ajscorrect but R |s not correct

4. A ls not correct but R is correct

Options :

92090697461. 1
92090697462. 2
92090697463. 3
92090697464. 4

Question Number : 66 Question Id : 92090624666 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A & sy fdu e §, ue sty & w4 H fafEd § O @IR1 39S BRI &
EUH,
HTUFY: U e d Ta® $1 Haddl ST SR afuid g4l &1 &1 Sl 8|
WU U5 fobed ¥ U goide HY-UHY W dead fayd & s91g Fiaw fava
ardl &3 A gaai g
TURIEHR FHUH & 3ME |, 19 30 70 fasedl § § 981 3T &1 994 B

1. ASIRRIAI T E, IR R, A D! U AR &

2. A SRR TG €, R R, A P U ARSI @

3. A9 E, AP R T §

4. AJETE ABPIRTT

Options :

92090697461. 1
92090697462. 2
92090697463. 3
92090697464. 4

Question Number : 67 Question Id : 92090624667 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion A and the otheris
labelled as Reason R.

Assertion A : 5oft iron is preferred over steel for making core in transformers and
moving coil galvanometers.

Reason R : Hysteresis loop area of soft iron is small compared to that in steel and
hence it has low retentivity and low coercivity.

In the light of the above statements, choose the most appropriate answer from the

options given below :
1. Both A and R are correct and R is the correct explanation of A
Z. Both A and R are correct but R is not the correct explanation of A
3. Ais correct but R is not correct
4. Ais not correct but R is correct

Options :

92090697465. 1
92090697466. 2
92090697467. 3
92090697468. 4

Question Number : 67 Question Id : 92090624667 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 3 By fGu U §, v sty & w4 T fafEd € J IR 39S BRI S
EUH
ATUFY: U fhted SIad 1 fadal AT 3R afeld 94 & o+ 3t 21
PR UF [Fed ¥ Ud SeiacH IHg-U0g IR d5ad f[AHd & garg Far fava
ardl &5 A ol g
IR Y= & 3fieies #, g fou e fdeedl # 9 98l 3R &1 =g Sifor:

1. A SR REHI 9d &, 3R R, A B UEl AT &

2. ASIRRTA G €, IR R, A DI H&l RS 61 &

3. AGT g, AR T &

4. ASETE AfPIRTY E

Options :

92090697465. 1
92090697466. 2
92090697467. 3
92090697468. 4

Question Number : 68 Question Id : 92090624668 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are twao statements | One is labelied as Assertion A and the otheris
labelled as Reason R.
Assertion A : Gold can actually change colour depending on the size of the gold
nanoparticles.
Reason R : The colour of metal nanoparticles is size dependent due to surface
plasmon absorption
Im the light of the above statements, choose the most appropriate answer from the
options given below :

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is not the correct explanation of A

3. Ais correct but R is not correct

4. Ais not correct but R is correct

Options :

92090697469. 1
92090697470. 2
92090697471. 3
92090697472. 4

Question Number : 68 Question Id : 92090624668 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

14 g1 pyH feu MU §, U sififeys & &u I forfad § ol g¥R1 SH® SRU &
FOH
SFFEY: Tes aad 1, 1es & IS0l & PR & YR W T dd Thdl
gl
PR Tdo! WISHA Y] & R 441 B &1 31 AHTHR W 1R Sar g1
IWIad YA & Maid H A 3T 70 fawedl # 8 98! It &1 994 Sl

1. ANRREH T E, 3R R A FI T6! TS &

2. ASRRIATHTE 3R R, A B! el RSN 81 &

3. AU E AfPTR T &

4 AT E AfPTIRITE

Options :

92090697469. 1
92090697470. 2
92090697471. 3
92090697472. 4

Question Number : 69 Question Id : 92090624669 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion A and the other is
labefled as Reason R.
Assertion A : Ferromagnetism is only observed in the materials having incomplete
electron shells.
Reason R : The ferromagnetic material shows large and positive magnetic
susceptibility due to presence of unpaired electrons.
Im the light of the above statements, choose the most appropriate answer from the
options given below :

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is not the correct explanation of A

3. Ais correct but R is not correct

4. A is not correct but R is correct

Options :

92090697473. 1
92090697474. 2
92090697475. 3
92090697476. 4

Question Number : 69 Question Id : 92090624669 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

13 1 FyA U MU §, U SifieyA & 9 1 forfad @ dl g1 S8d SRU S
FUH,
FHHYA: ©Ig dadd (GUHAeeH) Fad sl saeT- I are uardf A
Sadiied [&ar 9 8|
BIRUT: ST STl & JUredfd & SR BRI ® e 931 3R
THRIAD Jab 1 IR G21d &
IWRIdd $Y & s |, A B e [deedi 9 9 9gl 3w &1 954 ifo;
1. ASRREFI T E, 3R R A D UEl TS &
2. ARRIAITIE R R A DI G&l A T8l &
3. AT, AFIR A B
4. AFIE APIRIA &

Options :

92090697473. 1
92090697474. 2
92090697475. 3
92090697476. 4

Question Number : 70 Question Id : 92090624670 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct form of Debye scherrer equation for particle size
determination.
il
ef |

k cos b
ke
z = :
b cos®
Peos B
3 d="———
¥
A
4 - F
Lcosh
Options :

92090697477. 1
92090697478. 2
92090697479. 3
92090697480. 4

Question Number : 70 Question Id : 92090624670 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HU1 SR FuRo & e S IR Gl &1 96l 0 4 -

d B
1 kcos B
j o
o at
5 BcosB
/ fcost
L
3 k.
k
d =- b
4. hcost
Options :
92090697477. 1
92090697478. 2
92090697479. 3
92090697480. 4

Question Number : 71 Question Id : 92090624671 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One Is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A : In a solid, nearly 10 atoms per cm? are present, their levels are so
close together that they form energy bands.

Reason R : The greater the number of interacting atoms, the greater overlap of
their respective valence shall electrons wave functions.

In the light of the above statements, choose the most appropriate answer from the
options given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is not the correct explanation of A
3. Aiscorrect but R is not correct

4. Ais not correct but R is correct

Options :

92090697481. 1
92090697482. 2
92090697483. 3
92090697484. 4

Question Number : 71 Question Id : 92090624671 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 & FyA AU U §, U Sfiiey (A) & FU H fafed § ol gER1 39 HRU
(R) &% EUH,
HFHFYT A : TF 3 H, T 102 GRAT] Uid T4 HiE gid &, 3°% dae
(Cde) U FIY 34 A Bl 6 1 d Holl 48 F1d ¢ |
BT R : TRER [oh01 - dTcl WRATUST &1 H@ ord1 sifties giar g 31
UhR Ich Hdltd GOl Baf & gaac-l $i ol o &1 fAies e
gl gl
IR HUF & 3fTedied H, A9 30 0 fab el § 9 Hg! 301 &1 99 S
1. A SR RIHIUA §, 3R R, A B U RS &
2. ASRRIFTHAE, SR R A DI ol AT T8l &
3. AYdE AiPAR T T
4, AT E AFTRITE

Options :

92090697481. 1
92090697482. 2
92090697483. 3
92090697484. 4

Question Number : 72 Question Id : 92090624672 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is lebelled as Assertion A and the other is
labelled as Reason R.
Assertion A : The optical properties of a solid depends on the band gap between
valence band and conduction band.
Reason R : Photons of visible light have energies from 1- 3 e\,
In the light of the above statements, choose the most appropriate answer from the
options given below :

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is not the correct explanation of A

3. Ais correct but R is not correct

4. Ais not correct but R is correct

Options :

92090697485. 1
92090697486. 2
92090697487. 3
92090697488. 4

Question Number : 72 Question Id : 92090624672 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

914 S Fy UL §, U iy (A) & w0 # fafed § o R 396 HRUI
(R)H FUH,
HTHBYT A : UH 319 & USRI (SiTPda) o1 Haiel 94 3R Hagsd a4 &
dfg ¥z inm Faftsw g
BT R : A UHTRI & TR (BIET) B Fal 1- 3 eV Bl &
IR HUA & el H, Al 30 MU faw el # 9 gt IR &1 994 SIS
1. ARREH HA §, AR R, A P W AR &
2. ARREHF T E, IR R, A S Ul B8] &
3. AYGE PR ST E
4. ANTHE, AfFTRIT

Options :

92090697485. 1
92090697486. 2
92090697487. 3
92090697488. 4

Question Number : 73 Question Id : 92090624673 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following represents first order phase transition?
A. Vaporization of liguid at its boiling point
B. Transition from Ferromagnetic material to paramagnetic material
C. Normal liguid Helium changes to superfiuid Helium
0. Transition from Superconducting state to normal state.
Choose the correct answer from the options given below :
1. Aand B
2. CandD
3. Only A
4. Only B

Options :

92090697489. 1
92090697490. 2
92090697491. 3
92090697492. 4

Question Number : 73 Question Id : 92090624673 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0 A | &1 id 8§ | UyH S &1 UraRd1 YHHU -
A 3TH HYFIF R T T adiHIo
B. WU ® vard § Wiifes ey & dmuu
C. UMY oXd sifergH ¥ YR e oifcrad | HehHl
D. Sffardd a1 H HHA R H HHHU|
H1a fau e faeweul § & Hel G &1 98 DI

1. AdYlB

2. CTOYID

3. HAdA

4. HddB

Options :

92090697489. 1
92090697490. 2
92090697491. 3
92090697492. 4

Question Number : 74 Question Id : 92090624674 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The inter planar spacing {d) in the crystals is

given by
i
1 = ——
A kS
2 Lﬂl —I. - t : -
Yl kS + T
a
g s T
(a2 + k2 2)3
1
e —
[J'T: + 2+ F"}-i
Options :

92090697493. 1
92090697494. 2
92090697495. 3
92090697496. 4

Question Number : 74 Question Id : 92090624674 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fopeel 7 Siavrey (FevwrR) R fbud gr <) ol 21
il

d=———

1 Vhe+ k= +F

d «.—Iﬁ«,

2 VA + kS + 1

3. d=- . 1

{hi o FE]E

1
4 d= :
(h% + k2 + 2)3
Options :

92090697493. 1
92090697494. 2
92090697495. 3
92090697496. 4

Question Number : 75 Question Id : 92090624675 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

The sequence followed by Born - Haber cycle for MaCl is as follows :
A, Solid Na and O are dissociated into constituent atoms

B. Na® and CI”ions arrange themselves in the lattice with the release of lattice
Energy

C. Energy AH, heat of dissociation, is supplied in order to break the lattice again

into solid Ma and CI molecules.
D. Gaseous sodium and chlorine atoms are ionized by providing ionization energy

{1} in order to remove outermost electrons from sodium atom.

Choose the correct answer from the options given below !
i. AB.D,C
2. DA C
3. B,D.CA
4 ADBC

Options :

92090697497. 1
92090697498. 2
92090697499. 3
92090697500. 4

Question Number : 75 Question Id : 92090624675 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

NaCl & feu §-gaR b &1 HH 59 UDR ¢;

A. BT Na Ul C| TRHET[ T 3 81 & g |

B. Na* @Yl ClI- 319 39 WIeid (difew) H WY S0afRyd g9 & 91y Sae
Foll Hod R 8 |

C. 3 Na Tl C| # U: SIeieh (QfcH) &1 die & foie faged &1 I aH &1
Fug faTe #t ogfd &1 & 2|

D. S-IHU Sl ! Y[ Hp AIlSTH qUT FARIA URHTUIS B SHafd
fopar orrar 81

4 fGu e faseul O § Wl IR &1 95 Sifore:

1. ABDC

2. B.D,AC

3. B,D,C A

4 A DBC
Options :

92090697497. 1
92090697498. 2
92090697499. 3
92090697500. 4



Question Number : 76 Question Id : 92090624676 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in the crder of increasing cohesive energy.
A. Sodium chioride, NaCl
B. Diamond, C
C. Methane, CHy
D. Sodium, Na
Choose the correct answer from the options given below :
1. CGADB
2. CABD
3. CDAB
4. A, B C.D

Options :
92090697501. 1
92090697502. 2

92090697503. 3
92090697504. 4

Question Number : 76 Question Id : 92090624676 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FrafafEa &1 Yaue el & Sed gU 1 H HdRd S|
A, TIfeTH FERES, NaCl
B. SMOHUE, C
C. HYH, CHa
D. HIfgTH, Na
AT fau o faeedl & | Hel I &1 994 Hifr:
1. C,A DB
2. CABD
3. C,DAB
4 ABCD
Options :
92090697501. 1
92090697502. 2
92090697503. 3
92090697504. 4

Question Number : 77 Question Id : 92090624677 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the correct statements regarding synthesis of nanomatevials 7

a. Better size distribution s the limitation of sol-gel method.

b. Solvothermal method uses water as a major component during synthesis.

C. Ininverse micelle technigue, the size of nanoparticles is limited by miceller
cawity.

d. Hydrothermal method uses cyclohexane as a major component during

synthesis.
Choose the correct answer from the opticns given below :
1. aandb

2. bandc
3. aandc
4, candd

Options :

92090697505. 1
92090697506. 2
92090697507. 3
92090697508. 4

Question Number : 77 Question Id : 92090624677 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I uer & Heewur & HayA T gl HUH B 959 B

a. Hd-od [ g1 98 AR [Gawu &1 v I |

b. Wled! yd fafY deeivor § od U =1 92 |

c. 399 fr8e a7, A0l &1 SR e $1e (dadh g diftd
G

d. erReryHa fafY Moyl 7 WiEadl 87U Ud 1B U ¢l

14 fou v faseui § 9§ Wl ST &1 944 Difeie:

1. adidlb
2. bddlc
3. adylc
4. cdYld
Options :

92090697505. 1
92090697506. 2
92090697507. 3
92090697508. 4

Question Number : 78 Question Id : 92090624678 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following cubic crystals in the arder of increasing adiabatic elastic
stiffmess constants at room temperature
A K
B. Al
C. Ag
0. Au
E. Ta
Choose the correct answer from the options given below :
1. A<B<C=<D<E
2. D<C«<B<A<E
3. A<D=<B<C<E
4 Cech<B<D<E

Options :

92090697509. 1
92090697510. 2
92090697511. 3
92090697512. 4

Question Number : 78 Question Id : 92090624678 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafed 9 eR il &1 TG IdRId S8Rl Fadie & ged gUHH |
oA |
K
Al
Ag
Au
Ta
GIE| ﬁq 0 fasedl d 9 Hgl IR &1 994 ST
1. A<B=<C<D<E
2. D=C<B<A<E
3. A<D<B<C<E
4, C<A<B=<D<E
Options :
92090697509. 1
92090697510. 2
92090697511. 3
92090697512. 4

L i O

Question Number : 79 Question Id : 92090624679 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct option which represents the order in which the following

materials can be arranged with respect to their dimensionality (smaliest to largest)
A, Carbon nanotubes

B. Graphite

C. Graphene

D. Fulleren
Choose the correct answer from the options given below :

1. A<D=<C<B

BzA=<C=D
3. D<A<C<B
4, C<B=<D<A

i

Options :

92090697513. 1
92090697514. 2
92090697515. 3
92090697516. 4

Question Number : 79 Question Id : 92090624679 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafetad uardfl siu= Sl & S UR afeyd & ol U4 HH &I Ueiid
RGN GIGRS )
A, BIE- A1 egd
B. UhIEC
C. U
D. HeRH
A1 féw 7 fasseul # ¥ "l IR &1 949 S
1. A<D<C<B
2. B<A<C<D
3. D<A<C<B
4 C<B<D<A

Options :

92090697513. 1
92090697514. 2
92090697515. 3
92090697516. 4

Question Number : 80 Question Id : 92090624680 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



For orthorhombic crystal system
a=bzc a ..[.!I =y =H¥
grhzcatfzy290®

a=h#c.a :B: L}U"-_#?.

= Wi pd

azhzco=f=y=0

Options :

92090697517. 1
92090697518. 2
92090697519. 3
92090697520. 4

Question Number : 80 Question Id : 92090624680 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fareianes (siiRifvees) fReeea yomeh & fo -
;@ bxe,a=p=y=90°
5 a# bzc,azf2y290°
3 azb#c,a=pf=90°=#y
g4 G bzecu=pf=y=90°
Options :

92090697517. 1
92090697518. 2
92090697519. 3
92090697520. 4

Question Number : 81 Question Id : 92090624681 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :
Statement | : in crystallographic point group symmetry operation. 'Rotation -

Vo
ik

Reflection’ rotation through  * is followed by a reflection perpendicular to the

axis.

Statement Il : The is aforementioned 'axis’ is then called 2n -fold rotation -
reflection axis.

In the light of the above statements, choose the correct answer from the options
given below :
Both Statement | and Statement [l are true

1.
2
3.
4. Statement | is false but Statement 11 is true

Options :

. Both Statement | and Statement i are false

Statement | is true but Statement |l is false

92090697521. 1
92090697522. 2
92090697523. 3
92090697524. 4

Question Number : 81 Question Id : 92090624681 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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A9d g, AP R 3T &

92090697521. 1
92090697522. 2
92090697523. 3
92090697524. 4

Question Number : 82 Question Id : 92090624682 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

According to guantum mechanics which statement is correct in the case of
degeneracy.

Statement | : The degeneracy means the number of orbital with same energy.
Statement Il : The energy of each electron occupying same energy level are
degenerate.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement If are true

2. Both Statement | and Statement I are false

3. Statement | is true but Statement |l Is false

4. Statement | is false but Statement Il is true

Options :

92090697525. 1
92090697526. 2
92090697527. 3
92090697528. 4

Question Number : 82 Question Id : 92090624682 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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JSRITd HYF & 3did |, - 3T 70 f[dF o d 3 98l IR F1 994 DI
1. BY IR N EAT I &
2. PYF ISR 1S A B
3. PYF | 9 g, Afh S 1| 3T B
4, HYT | EA §, dfbd FUT 11 T 8

Options :

92090697525. 1
92090697526. 2
92090697527. 3
92090697528. 4

Question Number : 83 Question Id : 92090624683 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :
Statement | : The superconducting state of a material is defined to by two mutually
independent properties, that are : zero resistivity and perfect diamagnetism
(£=0 and B=0)

Statement Il : The superconducting state of a material is defined by two mutually
independent properties that are : zero entropy and zero temperature
[S=0and T=0).
In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement If are true

2. Both Staterment | and Statement If are false

3. Statement | is true but Statement |l is false

4. Statement | is false but Statement Il is true

Options :

92090697529. 1
92090697530. 2
92090697531. 3
92090697532. 4

Question Number : 83 Question Id : 92090624683 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 20C A AR S
HYA | ; el verd 1 siftaa® sfawl & g1 URER WaA 701 gRT Ui

faa SiTer 8, S 3 wfoRieean 3R qof vfogeda (E=0 and B=0)y,
FYF 1 - [l e &1 sffdared sfawy1 S &l IR Wdd 101 g1 gied
e ST €, S YR Tt SR YR dITHE (S = 0 3R T = 0)
IRIFd HYA & e |, A1 feu 70 fdFedl 1 I T8t IR &1 994 DIfol:
1. SUF ISR N EAT g &
2. PYA | SR I SF AT ©
3. YT | 9 g, Ak HUA || 3FT &
4. BYF| Y g, Afbd HUT 1| T &

Options :

92090697529. 1
92090697530. 2
92090697531. 3
92090697532. 4

Question Number : 84 Question Id : 92090624684 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :
Statement | : As the distance between the ions increases it results in reduced
lattice energy followed by fall in the melting point and hardness of the crystal.
Statement Il : As the distance between the ions increases it results in increased
coefficients of thermal expansion and compressibility.
I the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement il are true

2. Both Statement | and Statement Il are false

3. Statement | is true but Statement Il is false

4. Statement | is false but Statement Il s true

Options :

92090697533. 1
92090697534. 2
92090697535. 3
92090697536. 4

Question Number : 84 Question Id : 92090624684 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A FYRUME
DY |: W-0F AT & &1 B g3l Fedl 6, 39D URUH TWEY Fad (dfeH)
Sl BH Bl ol & 3R 3HY eI SR fhed &1 daRdar & &Hl 3 g1
HY 11: S-S ] & a1 DI g3l dad! &, SHD URUTH WEY S8y
faRaR SiR dteaar & Tuiies # 9fg €t 2
IRIE HYF & 3Mdld A, 19 AU 70 fdded § § ¥el I &1 999 Bl

1. SR NEHITTE

2. HYF| 3R 1S T &

3. HY | T g, Al $YA 1| ST §

4. HYF| A B, dfFT HYA 11 TA 8

Options :

92090697533. 1
92090697534. 2
92090697535. 3
92090697536. 4

Question Number : 85 Question Id : 92090624685 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :
Statement | : A unit cell is always a primitive cell it is defined by a parallelepiped of
longest possible sides by translations a, b, ¢ along three crystallo graphic axes x, vy,
r A
Statement Il : A unit cell can be a primitive or non primitive cell.
It is defined by a paralleiepiped of shiortest possible sides by translations a, b, c
along three crystallographic axes x, y, .
In the light of the abowve statements, choose the correct answer from the options
given below :

1. BothStatement | and Statement Il are true

2. Both Statement | and Statement Il are false

3. Statement | is true but Statement |l is false

4, Statement | is false but Statement Il is true

Options :

92090697537. 1
92090697538. 2
92090697539. 3
92090697540. 4

Question Number : 85 Question Id : 92090624685 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AF e e
FY | TP Y U g7 Uffed Ia a1 g1 I8 SR a, b aYT ¢ R A
[t ofeff X, v 1 Z & 1Y a8 ofd GH1ad Yorsil drel & GHHIR
T gRT uRfG e S B
FU I1: TS gf¢ Id Us Minfed a8 ¥ddl 81 98 a0l a, b IUT c gRITH
foreathe &l X, ¥ 74T Z X 91y Yo HH GHd YoN13{l & THHITR Iqu«
SR1 ufeHIe b ot g1
IR U & 3fieier #, g AU e fawedl d 9 el IR &1 9g4 Sifer:
1. FYF I AR IS Td &
2. BYF I 3R I AT A &
3. Y| U g, Afh HYA 1 T ¢
4. FYT| TH 8, AT FYT 11 IR

Options :

92090697537. 1
92090697538. 2
92090697539. 3
92090697540. 4

Question Number : 86 Question Id : 92090624686 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | : Top down approach of synthesis of nanomaterials involves both
physical vapour deposition (PVD) and chemical vapour deposition (CVD) method.
Statement Il : Bottom up approach of synthesis of nanomaterials involves only
chemical vapour deposition (CVD) methods.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are falze

3. Statement | is true but Statement Il is false

4. Statement | is false but Statement Il is true

Options :

92090697541. 1
92090697542. 2
92090697543. 3
92090697544. 4

Question Number : 86 Question Id : 92090624686 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl Py Ru U §:
U I; Hifds I FHE U1 THAFHS 9T §HIE (CVD) SFT A1 9aT HIam
@1 ef-3139 Ugd &
U 1I: TARIFAS a1 THIE 341 Yard JLyv &1 dad dicH-310 Ugd B
TRIT FYH & 3fdid |, A f3u 70 fapedl # A T8t IR 1 994 Difel:

1. BUT ISR NISAT I &

2. YA SR I SFI T &

3. PYF | U g, Ak $UF || ST B

4, Y| T g, Wb YT 11 T8

Options :

92090697541. 1
92090697542. 2
92090697543. 3
92090697544. 4

Question Number : 87 Question Id : 92090624687 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The first Brillouin zone isthe _ volume entirely enclosed by planes that are
______bisectors of the reciprocal lattice vectors drawn from the origin.
A. largest, parallel
B. Smallest, parallel
C. Largest, Perpendicular
D. Smallest, Perpendicular
Choose the most appropriate answer from the opticns given below :
1. B Onily
2. A Only
3. C Only
4. D Only

Options :

92090697545. 1
92090697546. 2
92090697547. 3
92090697548. 4

Question Number : 87 Question Id : 92090624687 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Uedl fafemm eii _ smad e S i aig A oA dal A g Sl gm 9 Eia
U URTING o afegi & faqesd 81

A, fameos, HFIoR

B. Had Biel, AT

C. faenaan, daad

1. &dd B
2. Hdd A
3. $dd C
4. &dd D

Options :

92090697545. 1
92090697546. 2
92090697547. 3
92090697548. 4

Question Number : 88 Question Id : 92090624688 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following about conservative force isfare correct?
A. Gravitational force and spring force both are conservative in nature.
B. Work done during a round trip by a conservative force is zero
C. Frictional force and spring force are non-conservative in nature
D, Work done by a conservative force depends on path taken
Choose the most appropriate answer from the options given below !
1. Aand B only
2. Band Conly
3. A, Band Donly
4. Bonly

Options :

92090697549. 1
92090697550. 2
92090697551. 3
92090697552. 4

Question Number : 88 Question Id : 92090624688 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Froafafad ¥ & 19 w1 9ah aa U8 2/87
A. TEEBNU §d ayl (B 9d SH1 &1 ughu Tef 8
B. W%l ¢ g1 gul aE H {1 T B Y B
C. UNUI §q aul (8 5a & uahy srwef g1
D. el 5@ g fdbar a1 R fo U gy Wy iR e
4t fau 710 fasedi § @ Hal ITR &1 9494 Hifeid:
1. Hdd A 3B
2. HAAB AR C
3. HAAA B3RD
4. &HddB

Options :

92090697549. 1
92090697550. 2
92090697551. 3
92090697552. 4
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Self - cleaning action of Nano materials is based on the following effects :
A. Lotus - effect
Quantum coenfinement
Super hydrophobic surface
Super hydrophilic surface
Kondo effect
Choose the most appropriate answer from the options given below
1. Aand E only
2. Aand D only
3. AandC only
4. Band C only

Mm@ m

Options :

92090697553. 1
92090697554. 2
92090697555. 3
92090697556. 4

Question Number : 89 Question Id : 92090624689 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A1 yerf gRY g UwTS fba (@ Faif vew) Fafafad # 9 fSas uve

. @ITH UMHE
HicH Y
. YR BRIIEIEE U

. YR gReI|iUs Hdg
EARIRS G

~om o W

m o

1 fAu U fas el # ¥ T@l 3R &1 994 ST
1. HAAASMRE
2. FAAA R D
3. PAAA R C
4. HAAB AR C

Options :

92090697553. 1
92090697554. 2
92090697555. 3
92090697556. 4

Question Number : 90 Question Id : 92090624690 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement | : Buckyballs are the spherical structures aiso referred to as fullerenes,
Statement Il | Buckyballs are a composite of carbon atoms linked to three other
carbon atoms by wan-der wall bonds.
Im the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement Il are true
Both Statement | and Statement Il are false
Statement | is true but Statement |l is false
Statement | is false but Statement Il is true

& bata

Options :

92090697557. 1
92090697558. 2
92090697559. 3
92090697560. 4

Question Number : 90 Question Id : 92090624690 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A FFE R E
FYF |: D! did MATHR JEF g, o o Hl &gl &l g
FYA |I: 9] df die ared 918 gRI A1 o= Sia- GRS § 92 bra-
R[S &1 U YUl 8|
JRIE HY & 3dlE |, -4 feu MU [dd i d 9 9el IR 1 999 ST
1. YIRS TI &
2. YA R 11 AT 3T &
3. YT | 9 g, Afed YA 1| T 8
4, ®YA | 3HA B, Abd YA I T 8

Options :

92090697557. 1
92090697558. 2
92090697559. 3
92090697560. 4
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Correct Marks : 4 Wrong Marks : 1



For phenomenon of total internal reflection the sufficient condition is

A. The refractive indices of two media are close to each other.

B. The refractive indices of the two media are widely different.

C. When light goes from optically denser medium to rarer medium.

D. When light goes from optically rares medium {smaller refractive index) to
optically denser mediurm.

Choose the correct answer from the options given below !
1. Bonly
2. Aonly
3. Conly
4. Donly

Options :

92090697561. 1
92090697562. 2
92090697563. 3
92090697564. 4

Question Number : 91 Question Id : 92090624691 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

quf 3R WRIgd $1 9o $ oy uaid 3 &
A, T HIH| & RIS U a1 & Hde gl
B. &l ATl & 3fUgdid aar9d =4 4 i 8l
C. Ol UahTe Fu- \regH ¥ fave Aemw ¥ 9 |
D. o/ YHTY faRka "iegH (BT SUdd® Yadbid) I Gu- A1egH § & |
Hia fau e faseul & | Hel TR &1 9 HifT;
1. &dd B
2. dad A
3. HadC
4. HAAD

Options :

92090697561. 1
92090697562. 2
92090697563. 3
92090697564. 4

Question Number : 92 Question Id : 92090624692 Question Type : MCQ Option Shuffling : No Is
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Instruction Time : 0
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The value of susceptibility in case of an ideal diamagnet is 7
A D
B. o=
Co =1
b1
E. 100
Choose the correct answer from the options given below :
1. Aonly
2. Conly
3. Band Donly
4. Dand A only

Options :

92090697565. 1
92090697566. 2
92090697567. 3
92090697568. 4

Question Number : 92 Question Id : 92090624692 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U G UigEs (SHHve) & e H GUredl &1 °1F 82
A 0
B. =
& oot
D. 1
E. 100
i fau 77e fawedl § @ el IR &1 904 Sl
1. $ddA
2. HAAC
3. FIAB R D
4, HAAD MR A

Options :

92090697565. 1
92090697566. 2
92090697567. 3
92090697568. 4
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Which of the following is not a type of carbon nano tube ?
Stylo carbon nano tubes

=

Double walled carbon nanotubes
Multi walled carbon nanotubes
Single walled carbon nanotubes
Zero walled carbon nonotubes

monNnm

Choose the correct answer from the opticns given below :
1. Band Conly
2. Dand Aonly
3. Aand E only
4. CandE only

Options :

92090697569. 1
92090697570. 2
92090697571. 3
92090697572. 4

Question Number : 93 Question Id : 92090624693 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafifed & @ 19 1 ST 39 &J" &1 UDR T8l 87
A. ETZA BlE s
B. GIgdl ElaR ardl HTa Aicyd
C. 9g-dlaR ad P1a- AIed
D. Udhd SlaR dldl e AHled
E. YA TAR d1d dled A-iegd
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1. $adB R C
2. HAd D 3R A
3. HadA
4, HACIIRE

Options :

92090697569. 1
92090697570. 2
92090697571. 3
92090697572. 4
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Match List | with List Il
LIST | LIST Il

Degiee of Teeduin - 1

A. [Carbon Quantum Dot k.
o . Degree of confinement - 2

B. [Carbon nanotubes Il Heghes :}Ffree:.j SR
Degree of confinement - 0

Degree of freedom - 0

C. jeraphene sheet ILL.
P Degree of confinement - 3

) Degree of freedom - 2
0. fEraphite .

Degree of confinement - 1

AL, 2.1, C-IV, DIl
Aclll, B-1, C-IV, D-il
Acl, B-ll, C-IHI, DIV
A=, B-IW, C-1, D-ll

by BT el

Options :

92090697573. 1
92090697574. 2
92090697575. 3
92090697576. 4

Question Number : 94 Question Id : 92090624694 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

! | 1 gt 1| e eifse

gl | SEll

.| [Edaar st 3= 1
A. [@®TeA ®icH 8le| 1. e 29 et} - 2

Rl &1 fgdt = 3
B. [®TaA A1 &d | L. ver 1 Rt =

o &1 30 = 0
C. pTeid gt . |er 28 et _ 3
] @i (311 = 2

D. T V. e 2 Rt - 1
A-ll, B-1, C-IV, D-1lI
A-lll, B-1, C-IV, D-I
A-1, B-1l, C-1II, D-IV
A-1l, B-1V, C-1, D-II

-l

Options :

92090697573. 1
92090697574. 2
92090697575. 3
92090697576. 4



Question Number : 95 Question Id : 92090624695 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List il
LIST | LIST 0l
A, [Top - down synthesis approach | |. |Growth and self - assembly

Bottom up synthesis approach | 1L fconducting polymers

B.

C. i-D mano structure lil. |Metal nanopartides

D. -0 nano structure IV. |Litho graphic patterning
A=, B=lll, C-01, D=1V

AN, B-1, C-N, D=1V

A-IV, B-I, C-lI, D=1l

A, B-IV, C-1lI, D=l

Y

Options :

92090697577. 1
92090697578. 2
92090697579. 3
92090697580. 4

Question Number : 95 Question Id : 92090624695 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl | 1 g 1 ¥ A Sifse

| SEifl
A. ETI-ST13 YN0 ePHI0 | 1. [y d Jeb SfHTaell
ETeH-3{0 YN 2IPhI0 | |l [HdgH dgad (Ul
U S{TATHT (1-0) =411 WA | 1. [Urd 91 o

S ST (0-D) A1 I 1. [fedaithe def

1. A-l, B-Ill, C-Il, D-IV

2. A-lll, B-l, C-ll, D-IV

3. A-IV, B-I, C-II, D-lli

4. A-l, B-IV, C-lll, D-Ii

O|lNn|m

Options :

92090697577. 1
92090697578. 2
92090697579. 3
92090697580. 4
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Correct Marks : 4 Wrong Marks : 1

Match List | with List 1l

LIST I LIST 1l

A KGauss law in Electrostatics| 1. JH-cr‘f = S

B. }zauses law in magnetism | 11, VoF plEn

C. |ampere’s law I, | v.8=0

D. JFaraday's law of Induction| IV. ! E-dl =— _f.:
L

Acll, B-1, C-1II, D=1V
A-l, B-lll, C-II, D-IV
A-IV, B-Ill, C-II, D-1
Acll, B:111, C-1, D-IV

£ R

Options :

92090697581. 1
92090697582. 2
92090697583. 3
92090697584. 4

Question Number : 96 Question Id : 92090624696 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl | &1 g 11 e Sifoe
g | sl

A. [T &1 Sadeeeioad &1 e 1. ffi-d.f Wl
B. [T 1 Yaeed o1 Fraw I | V-E=p/eg
C. R &1 fan . [ V.8 =0

D. [T &1 Wad= &1 g .| PE- Ln—_m

1. A-ll, B-I, C-lIL, D-IV
2. A-l, B-lll, C-lI, D-IV
3. A-IV, B-lll, C-I, D-
4. A-ll, B-Hl, C-I, D-1V

Options :

92090697581. 1
92090697582. 2
92090697583. 3
92090697584. 4
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Correct Marks : 4 Wrong Marks : 1

Match List | with List 1l

LIST I (Structura) LIST [l [Closest distance )
i
A, BC L ;.«E—
E
B. |occ I1. Gl
!
C. ffcc 118 B =
R P
. NE
D. diamond structurg] 1V, o—
e
1. A-l, B-I, C:-ll, D-til
2. AV, B-lll, C-1, D=l
3. Al B=IV, C-lII, D=k
4. AL, B-Iv, C-1I, D-1

Options :

92090697585. 1
92090697586. 2
92090697587. 3
92090697588. 4

Question Number : 97 Question Id : 92090624697 Question Type : MCQ Option Shuffling : No Is
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Correct Marks : 4 Wrong Marks : 1
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A, |sc I 7
4
B. |bcc . |a
ol
C. |fcc 1. :?
i ; f3
D. BIOHUS AT V. | o~

A-l, B-IV, C-ll, D-11I
A-1V, B-lIl, C-I, D-1I
A-ll, B-IV, C-II, DA
A-llI, B-1V, C-lI, D-

ol ol i

Options :



92090697585. 1
92090697586. 2
92090697587. 3
92090697588. 4

Question Number : 98 Question Id : 92090624698 Question Type : MCQ Option Shuffling : No Is
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Correct Marks : 4 Wrong Marks : 1

Match List | with List i

LIST | LIST Il
L 4 _ e
e "|* T Ex-Ey
he
B. 1.4 R
., he
C. K, 1. f* ﬁ
1 | |4 = e
- s ] a Er- = f.:ﬁ.r
1. A-l, B-IV, C-liL, DAl
2. A-IV, B-1, C-Il, D-Il
3. A, B-ll, C-1, D-IV
4. A-ll, B-l, C-Ill, D-1V

Options :

92090697589. 1
92090697590. 2
92090697591. 3
92090697592. 4
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It | 1 I 1 fHaE i

il gl |l
. he
A, Ka I A=m
B. K N -
I 1 Ex-Eyn
C. [k, f4 = Th—ti._;
& L P
' 1 EL-Ey
1. A-l, B-IV, C-lll, D-1l
2. A-IV, B-l, C-il, D-1I
3. A-lll, B-Il, C-I, D-IV
4. A-ll, B-l, C-lll, D-1V

Options :

92090697589. 1
92090697590. 2
92090697591. 3
92090697592. 4

Question Number : 99 Question Id : 92090624699 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

hatch List | with List 1l
LIST I LIST 1l

1 dimensional ; :
A I. fonfinement in one direction
structure

2 dimensional

B. I Il. Wo confinement

c 0 dimensional . fonfinement in all three
structure Hirection

D. |Bulk V. fonfinement in two direction

1. A-ll, B-1, C-INI, D-1Y
2. Asl, B=I\, C-IIE, D=1
3. Al Bell, C-IHI, DIV
4. A-IV, B-I, C-lit, DI

Options :

92090697593. 1
92090697594. 2
92090697595. 3
92090697596. 4



Question Number : 99 Question Id : 92090624699 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt | &1 g1 1 faE i

K&l sl

A. [1-3TTH (1-D) A 1. [IF 3 H Ay

B. |2-3Mmamt (2-D) WA 1. [l A8 A8

C. [0-3grHY (0-D) FX=A 1. [t 4T smarEr O e
D. [dc® HXal V. [T SmarHl § Y

1. A-ll, B-l, C-lll, D-IV

2. A-l, B-IV, C-lll, D-Il

3. A-l, B-II, C-lil, D-IV

4. A-IV, B-l, C-lll, D-i

Options :

92090697593. 1
92090697594. 2
92090697595. 3
92090697596. 4

Question Number : 100 Question Id : 92090624700 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List LI

LIST I LIST Il

A, Jlonic solid l. |Diamond
B. [Covalent bonding II. |Argon
C. Hydrogen bond L. |NaCi

0. Wander waals interaction| IV, [HF

1. A-IV, B-lI, C-l, D-1
2. A, B-IV, C-lt, D-b
3. A, Bell, Coill, D=1V
4. AN, B-I, C-Iv, D-0I

Options :

92090697597. 1
92090697598. 2
92090697599. 3
92090697600. 4

Question Number : 100 Question Id : 92090624700 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Tl 1 1 gl 1 & e Sifer

| Sl
A (3OS B . [srHUE
B. BTG d¢ R ERE
C. BI3SreH a4 11, [HIFSUH FRISS (Nacl)
D. [d8X aTed UTERR fohdr (ZeawH )| IV, HF

1. A-IV, B-ll, C-lli, D-I
2. A-ll, B-IV, C-lll, D-
3. A-l, B-ll, C-HI, D-1V
4. A-llI, B-l, C-IV, D-1I

Options :

92090697597. 1
92090697598. 2
92090697599. 3
92090697600. 4




